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DZ2R. DZ2KR Series
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IEC connector filter with fuse or switch.
R:for one or two fuses K:with switch.

D RN
Space-saving

O AFNEBFREFBFUEMNS
For mini-electronic equipments and electronic measuring instruments

L o AL Toch o D)

% E B JE Rated Voltage 250VAC

T {E$7= Operating Frequency 50/60Hz

#M7E LT Rated Current 1A-10A

it it 36 (— 5 5) 1500VDC (line/line)

Test Voltage (1min) 1500VAC (line/ground)

S1%2E5] Climatic Category 25/085/21
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CU(X?M Cap?ﬁli:t?nce %u(rr;e:)t Re(s'\i/lstg‘;:\r;ce Diagram fig. Dimension fig.

DL-1DZ2R L =t 1 22 0.5 1 1 1
DL-3DZ2R O =L 3 2.2 0.5 1 1 1
DL-6DZ2R O =L 6 2.2 0.5 1 1 1
DL-10DZ2R O L 10 22 0.5 1 1 1
DL-1DZ2KR > =L 1 22 0.5 1 2 2
DL-3DZ2KR O = 8 22 0.5 1 2 2
DL-6DZ2KR & =L 6 22 0.5 1 2 2
DL-10DZ2KR o =L 10 22 0.5 1 2 2
DL-1DZ2KR2 o L 1 22 0.5 1 3 3
DL-3DZ2KR2 L = 8 22 0.5 1 3 3
DL-6DZ2KR2 e =t 6 22 0.5 1 3 3
DL-10DZ2KR2 L4 =0 10 &8 0.5 1 3 3
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fig.1 fig.2  (for one fuses) fig.3  (for two fuses)



< DZ2R. DZ2KR Z7 DZ2R. DZ2KR Series
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(50QM=E AL, IEC/CISPR No.17 St hR# Measured in 50 Q system, as IEC/CISPR No. 17)
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#4%(Common Mode)
---- Z1#&(Differential Mode)



